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06 April 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM
RBI ONLINE LIVE CLASS

BILINGUAL

13 April 2022

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

11:30 AM to 01:30 PM
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(English & Bengali)

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

05:30 PM to 06:30 PM

CCC ONLINE LIVE CLASS
(NIELIT COMPUTER COURSE)

20 April 2022

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS
(English & Bengali)
01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

10:30 AM to 11:30 AM

ENGLISH SPEAKING COURSE 2022

(ENGLISH SPEAKING COURSE)

27 April 2022

07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL
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Mohit.. 12 hours ago
@ ’ ) ) Bhavika Goyal 21 hours ago
=%’ Thank-you Madam for today's Amazing conceptual Clas Session.. o )

And Homework question :

My Answers for today's Homework are like- 1st - (E) either 2 or 3 follows
1). Option E- Either Il or II... 2nd - (B) none

Read more 3rd - (3) definitely does not follow .

oy SR REPLY Read more

+ View reply from Mahendras : Online Videos For Govt. Exams gy oF REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Nadeem 16 hours ago
@Homework Answer

o«ﬂ.ns 1:- Option E *4 Satarupa Saha 21 hours ago

o;ﬂms 2 - Option B /, Homework

Q) Ans 3 :- Option C.. 1. e. Either i or iii follow

Read more 2. b. None follows

4 CB  REPLY 3. 3. Definitely doesn't follow..

Read more

oy &R REPLY
debasish chakraborty 21 hours ago
Homework : v View reply from Mahendras : Online Videos For Govt. Exams

1. Eithet 2 or 3 follows
2. None Follows

3. Only 3 follows.. . Rahul Bhakat 16 hours ago
HW 3) Option 3 Definitely Doesn't follow.

Read more

* View reply from Mahendras : Online Videos For Govt. Exams

oy &R REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Bash abhi ek hi guestion mila humko ma‘am!
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Sonam Pundir 14 hours ago

Hw

1.(E) 2n 3 either or

2. (B) none follows

3. (3) definitely does not follow.

Km Shahina 21 hours ago

T

Homework

1. Either 1 or 3 follow
2.none follows

3.c

gy GF REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Niteesh Kumar 21 hours ago
1.e023

Z2..none
3.3

g GR REPLY

Read more

gy GF REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Nabanita De 19 hours ago
H.W-1.either 2or 3 follows.2.none follows.3.only 3 follows.thank u ma'am.

gy GF REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Deepali Rajlani 21 hours ago
Homework

1 either 2 or 3 follows

2 Only 2 follows

3(3)

b &R REPLY

v View reply from Mahendras : Online Videos For Govt. Exams
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Statements:

All nature are beauty

Only a few beauty are wonder
No wonder is worlds

Conclusions:

. Some nature are worlds
Il. Some wonder are nature
lll. No wonder are nature

(a)Only | follows

(b) Only I, Il and Il follows
(c) Only | and Il follows
(d) Either 1 or 1l follow

(e) Either Il or lll follow
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Statements:

Some number are palindrome
Some palindrome are Digit
No digit are Prime

No prime are number

Conclusions:

I. No Digit are Number

Il. All prime are number is a possibility
lll. No palindrome are Prime

(a)Only | follows

(b) None follows

(c) Only Il follows

(d) Either 1 or Il follow
(e) Only I or 1li follow
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Q.4.Statements : All teachers are doctors.
Some professors are doctors.
All professors are writers
Conclusions: 1. All teachers being writer is a possibility.
2. All professors being teacher is a possibility.
3. No doctor is a writer.
4. Atleast some doctors are writer.

5. Some doctors not being professors is a possibility.
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s <FFd-S, T, U, V, W, X, Y 3T Z
mﬁawaﬁ"aﬁrmwm
@2 ¥| ST A8t o @l ST 3w
FHAAES, X H T T S TITH W
@STE | WA ar s 3 o7 &1 X & Aot
GSTgl Y WHIF A TSTEIZ VH
T A AT R @3T8l VAR W
AFcar R a8 g1 X 3 va i
T2 AFIA A TEAT 3TN E
fSrdst v 3R T & g @8 = fFaat
fuaemgiuaarwaikadize
T @ST 2|

Eight persons-S, T,U,V, W, X, Y, and Z are
standing on the circular table facing the center.
All the information is not necessarily in the same
order. S stands second to the left of X. W stands
adjacent to neither S nor X. Y stands to the
immediate right of W.Z stands second to the left
of V.V and W are not immediate neighbors. The
number of persons stands between X and V is
the same as the number of persons stands
between V and T. U stands adjacent to neither W
nor Z.
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Eight persons-S, T,U,V, W, X, Y, and Z are
standing on the circular table facing the center.
All the information is not necessarily in the same
order. S stands second to the left of X. W stands
adjacent to neither S nor X. Y stands to the
immediate right of W.Z stands second to the left
of V.V and W are not immediate neighbors. The
number of persons stands between X and V is
the same as the number of persons stands
between V and T. U stands adjacent to neither W
nor Z.
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What is the position of S with respect to V? a)
Immediate left b) Immediate right c) Third to the
left d) Third to the right e) Second to the left

Who among the following person stands
between T and S when counted to the right of S?
. The one who stands immediate left of X

Il. The one who stands opposite to Z

lll. The one who stands second to the right of U
IV. W

a) Only Il and IV b) Only I and il ¢) Only lll and IV
d) Only | and Il e) None of these

Four of the five among the following are similar
in such a way to form a group, who among the
following doesn’t belong to the group? a) UV b)
WZc)TSd) YXe) WV
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If all the persons are arranged in alphabetical
order from S in an anti-clockwise then how many
persons remain unchanged in their position
(excluding S)? a) Three b) Two c) Four d) One e)
No one

Who among the following person stands third to
the left of Y? a) Z b) The one who stands
immediate left of W c) The one who stands
immediate right of X d) The one who stands
oppositetoSe) S
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gaeaidd-1,),K LM, N,0,P,Q3RR Ten people-1,J,K,L, M, N, O, P, Qand R

WW*WW%‘%ﬁTW*’ are sitting around the circular table and
HR ST & At TR el Tl facing towards the table but not
FAAE | FTHT QFH R ¥ DY

T U S g ATyl ), ke hecessarily in the same order. | faces the
Fald e der® I aati it one who sits third to the right of Q. J sits
IR KA F AT S 21 J3IRRF fourth to the left of K. Neither | nor Q sits
AT FIA N ATFT S, AANF IR adjacent to both J and K. Only two

gmmwﬂa%maﬁuﬂ;aﬁir : :
- : persons sit between J and R who sits
© 5% 3 81 AR P F AT second to the left of N. As many persons

33 &1 P ¥ gAY TU W o= arel , .
aqﬁ.?na;aﬁqw;mwa\a%l sit between N and J is the same as
M, O & & & N TUTT W daT | between | and P. The one who sits second

e 1TOM P is sits second to the right of L.M
L;z OO _  sits third to the right of O.



http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

Ten people-1,J,K,L, M, N, O,P, Qand R
are sitting around the circular table and
facing towards the table but not
necessarily in the same order. | faces the
one who sits third to the right of Q. J sits
fourth to the left of K. Neither | nor Q sits
adjacent to both J and K. Only two
persons sit between J and R who sits
second to the left of N. As many persons
sit between N and J is the same as
between | and P. The one who sits second
from P is sits second to the right of L.M
sits third to the right of O.
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sits fourth to the right of M. a) Lb) K c) Q d)
| e) None of these

Who sits third to the left of the person who faces
O? a) Person sits second to the right of Q b)
Person sits third to the left of L c) Person sits
fourth to the right of P d) Person sits second to
the left of R e) None of these

Four of the following five are alike in a certain
way and hence from the group. Which is the one
that does not belong to the group?

a) LJb) MN c) 10 d) PK e) RO
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Which of the following statement is/are true?
I. N faces the one who sits just left of P

Il. Q sits exactly between Kand M

lll. Only three persons sit between R and Q

a) Only 1 b) Only Ill c) Both 1 and 11 d) All I, Il and
lll e) None of these

In which of the following statement the third
person faces the one who sits exactly between
the first and the second person in the following
arrangement? |.RLJ Il. MIK Ill. RQP a) Only | b)
Only llc) Only I and Il d) All |, Il and Ill e) None of
these
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BE afad- 1, J, K, L, M, 31T N IR #or I e
Y 3 7T FF 15 ¥ 3 BT TFR & $91-
T, Fll, For, A5, el 31T A1ST FT 39ANT
safed & 910 & guY T W do71 ¢ it giat dar 1
T ¢ 3T Ig ITFa 3 FelT ST FT 39919
m%,ﬁmmﬁljw@ma;m
Yor ot FAF e dord T A s A A
T SR HIAT | ATAY ) IT M Felt T

AT & | N FeAT HT ST Al FIAT |

Six persons- |, J, K, L, M, and N are sitting on the
circular table facing the center. They are using
different types of bags- Birkin, Kelly, Clutch,
Saddle, Duffel, and Hobo but not necessarily in
the same order. L sits second to the left of the
one who uses Hobo bags. The one who uses
Hobo bags and the one who uses Clutch bags are
immediate neighbors. J sits opposite to the one
who sits immediate right of I. J neither uses
Hobo nor Clutch. The one who uses Birkin sits
second to the left of I. The one who uses Saddle
sits immediate left of the one who uses Duffel. L
neither uses Duffel nor Kelly. Either J or M uses
Kelly. N does not use Clutch.

; e el
| =00 .
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Six persons- |, J, K, L, M, and N are sitting on the
circular table facing the center. They are using
different types of bags- Birkin, Kelly, Clutch,
Saddle, Duffel, and Hobo but not necessarily in
the same order. L sits second to the left of the
one who uses Hobo bags. The one who uses
Hobo bags and the one who uses Clutch bags are
immediate neighbors. J sits opposite to the one
who sits immediate right of I. J neither uses
Hobo nor Clutch. The one who uses Birkin sits
second to the left of I. The one who uses Saddle
sits immediate left of the one who uses Duffel. L
neither uses Duffel nor Kelly. Either J or M uses
Kelly. N does not use Clutch.
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L K
Saddle Clutch

I
Duffel

Who among of the following person sits
immediate right of I? A. The one who uses Birkin
B. The one who sits second right of K C. The one
who sits immediate left of L D. The one who uses
Hobo E. K

Which of the following bag does K use? A. Clutch
B. Hobo C. Duffel D. Kelly E. Saddle

Which of the following combination is true? A.
N- Clutch B. K- Kelly C. J- Birkin D. M- Saddle E. I-
Hobo
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L

Saddle

Clutch

Which of the following statement is true? I) M
sits second to the left of the one who uses
Saddle Il) K sits immediate right of 1 lll) | uses
Duffel A. Only Il B. Only I and IlI C. Only IlI D. Ali
I, Il, and Il E. None of these

Who among the following person uses Hobo
bag?

A. The one who sits immediate left of L

B. The one who sits second to the right of M
C.K

D. The one who sits third to the right of |
E.N
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WOQi#a A B,CD, E’FaﬁTGW
et ofea o 43 ¥ aiky 3% e ) 3
3r;ala%glia;almaﬁﬁ;wmﬁ
g1 & et caferdl & i A gt 4
MG AFITH s daTRI GUFTH
X WWWQBT% E'Aﬂ?aﬁaa
81 G 3R E & dia fr gt srftrema 16
AT FIRcFNTFaaaNc
45 &1 B, F ¥ ar$ 3R 4t doar g1 B 3R
Dﬂ?aﬁﬂ'aﬁ'@%ﬁ'aﬁ%l ¢ b3 ard
el qoT ¢

Seven persons A, B, C, D, E, F and G are sitting
in a straight row and facing north direction but
not necessarily in the same order. Distance
between two adjacent persons is 4m. G sits 8m
towards the left of A. G does not sit on the
extreme end of the row. E sits towards the
right of A. Distance between G and E is at most
16m. Only two persons sit between F and C. B
sits 4m towards the right of F. Distance
between B and D is not 8m. C does not sit
towards the left of D.

. |
- ®
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Seven persons A, B, C, D, E, F and G are sitting in a
straight row and facing north direction but not
necessarily in the same order. Distance between
two adjacent persons is 4m. G sits 8m towards
the left of A. G does not sit on the extreme end of
the row. E sits towards the right of A. Distance
between G and E is at most 16m. Only two
persons sit between F and C. B sits 4m towards
the right of F. Distance between B and D is not
8m. C does not sit towards the left of D.
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What is the distance between E and D? a) 16m b)
4m c) 8m d) 20m e) 12m

Final arrangement:
D G C How many persons sit towards the right of the

one who sits 4m to the left of F? a) Two b) One c)
Three d) Four e) Five

What is the position of A with respect to C? a)
8m to the left b) 3rd to the right c) 4m to the
right d) 2nd to the left e) 12m to the left
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Final arrangement:

D

G

C

Four of the following five are alike in a certain
way as per the given arrangement and thus form
a group. Which of the following one does not
belong to that group? a) DC b) AF c) EB d) GE e)
AG

How many persons sit between G and B? a) One
b) As many persons sit between D and F ¢) Two
d) Three e) As many persons sit to the right of G
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Ao afFd-E, F, G, H, |, J, KIRLTH
A& qfee & 3a¢ faem i 3R 377"
Q1T @2 ¥ A e Ts Adt s A A
gl H ) F T A NN TAFTREGSIE I F
am‘?sﬂtm@ma’raqﬁ?rm}%l H&
arft 3T WS A fFaal FY HEATF F 91
Y @S ITFAAT 1 T&AT H T S g
G I$ A WSTE H. F 3R H F g oda
AT GIHNEFAT@ITIK LFSH A
GO T W EST 8 | 31t K v
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Eight persons—E,F, G, H, 1, J, Kand L are
standing in a linear row facing the north
direction but not necessarily in the same
order. H stands third to the right of J. At
least two persons stand to the left of J.
The number of persons standing to the
right of H is one more than the number of
persons standing to the left of F. G stands
to the right of H. As many persons stand
between F and H as between G and E. K
stands second to the right of L. | and K are
not immediate neighbours
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Eight persons—E, F, G, H, |, J, Kand L are
standing in a linear row facing the north
direction but not necessarily in the same
order. H stands third to the right of J. At
least two persons stand to the left of J. The
number of persons standing to the right of
H is one more than the number of persons
standing to the left of F. G stands to the
right of H. As many persons stand between
F and H as between G and E. K stands
second to the right of L. | and K are not
immediate neighbours
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How many persons stand to the right of L? a)
One b) Five c) Four d) Two e) Three

Which of the following statement(s) is/are true?
I) Only one person stands between L and K

Il) F stands immediate left of J

lll) | stands end of the row

IV) E stands to the left of F

a) Only (l1) and (1) b) Only (1) and (IV) c) Only (I)
and (ll) d) Only (l1) and (IV) e) Only (l), (1) and
(1)
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If all the persons are arranged in alphabetical
order from the left end, then how many persons
remain unchanged in their position? a) One b)
Two c) Three d) More than three e) No one

Four of the five among the following are similar
in such a way to form a group, which one of the
following doesn’t belong to that group? a) lJ b)
FEc) LK d) IG e) HG

If J and L are interchanged in their positions then
K and | did the same, with respect to the new
positions, who among the following person
stands third to the right of E? a) The one who
stands immediate left of Fb) Fc) Gd) | e) The
one who stands second to the right of G
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&H Ifed & WATIGR 9iedar 3rgTa 9fea 1 3%
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3+0@ ¥ UfFd 1 & o1 3% cufFa ufed 2 & v+
safad & S Rl do1 §1 dfFa 1 ik 2 Frafaor
ARz QF A A NN AT R3S 239
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Ten persons sit in two parallel rows i.e. row 1
and row 2 with five persons sitting on each row.
Five persons face north and rest face south.
Each person sitting in row 1 sits exactly
opposite to each person in row 2. Row 1 is in
south direction of row 2. Z sits third to the right
of Q. Z sits opposite to the person who sits
immediate right of O. O faces north. D sits
opposite to the one who sits third to the left of
M. Z face the opposite direction to Q. Only
three persons sit between Q and P who sits in
row 1. L is an immediate neighbour of both O
and D. S sits second to the right of the person
who sits opposite to D. R sits immediate right of
N. R faces the same direction as O. S and L face
the same direction as Q.
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Ten persons sit in two parallel rows i.e. row 1 and
row 2 with five persons sitting on each row. Five
persons face north and rest face south. Each
person sitting in row 1 sits exactly opposite to
each person in row 2. Row 1 is in south direction
of row 2. Z sits third to the right of Q. Z sits
opposite to the person who sits immediate right
of O. O faces north. D sits opposite to the one
who sits third to the left of M. Z face the opposite
direction to Q. Only three persons sit between Q
and P who sits in row 1. L is an immediate
neighbour of both O and D. S sits second to the
right of the person who sits opposite to D. R sits
immediate right of N. R faces the same direction
as O. S and L face the same direction as Q.
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How many persons sit between L and R?
A. Two B. Three C. One D. None E. None
of these

If R is related to Q, N is related to M then
i nthe same manner Lisrelatedto _ ?
A.ZB.PC.OD.DE. None of these

Who sits immediate right of the one who
sits oppositeto S? A.LB.RC.D D. NE.
None of these
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Which of the following statements i s not true?
A. S face the same direction as R B. R sits at the
end of the row C. D sits opposite to P D. O sits
immediate right of L E. All are true

) Which of the following is true regarding M? A.
M sits at the end of row B. M sits opposite to R C.
M sits immediate left of S D. Both a) and c) E.
None is true
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